

Co-funded by the Erasmus+ Programme of the European Union

Project Number: 2018-1-DE02-KA204-005014 6th NGEnvironment – Layman Report Conference – Meeting Evaluation





NGEnvironment

Foster European Active Citizenship and Sustainability Through Ecological Thinking by NGOs

Project Number: 2018-1-DE02-KA204-005014

The 6th NGEnvironment Layman Report Conference

12th to 14th of July 2021

Meeting Evaluation

Project Title: Foster European Active Citizenship and Sustainability

Through Ecological Thinking by NGOs

Acronym: NGEnvironment

Reference number: 2018-1-DE02-KA204-005014

Project partners: P1 University Paderborn (UPB), DE

P2 Right Challenge (RC), PT

P3 EPEK – Society for Environmental Education of Korinthia (EPEK), GR

P4 Across Limits Ltd. (AL), MT

P5 Future in Perspective (FIPL), IRL

P6 Asociación cultural y medioambiental Permacultura Cantabria (PC), ES

P7 SINERGIE Soc. Cons. a r.l. (SIN), IT

P8 Grupul Pentru Integrare Europeana Romania (GIE), RO

Host: University of Paderborn, GER

Venue: Online via Zoom





Project Number: 2018-1-DE02-KA204-005014 6th NGEnvironment – Layman Report Conference – Meeting Evaluation

Meeting Evaluation – Results

The meeting evaluation of the 6th NGEnvironment project meeting shall give an overview of the feedback about the online partner meeting, hosted by University of Paderborn, GER via Zoom (online).

This questionnaire was handed out as an online survey during the meeting and was answered by one person per institution to evaluate the meetings content, the meetings design, the coordination and the results of the meeting.

The 6th project meeting, although held online via Zoom, went well and none of the partners has anything of urgent matter to declare at this stage of the project.

Nevertheless, the answers show that the Corona pandemic poses challenges in project work. All project meetings, contacts with other partners, etc. are handled online, which makes communication very difficult. Anyway, we are on track with all project activities.

Even so, each partner has a clear picture of the meeting objectives and considered the meeting as helpful. Additionally, the project participants thank for the good cooperation so far and are looking forward to last further project work.

Р	lease	find	helow	the	summarised	eva	luation	data:
	icasc.	HIII		uic	Juli III II II I Juli	Cva	ıuatıorı	uata.

Question 1:

	Totally disagree	Partly disagree	Partly agree	Totally Agree	I don't know	Σ
The conference lived up to my expectations.			1 (12,50%)	6 (75,00%)	1 (12,50%)	n=8
The conference objectives were clear to me.				7 (87,50%)	1 (12,50%)	n=8
The difficulty level of this conference was appropriate.				6 (75,00%)	2 (25,00%)	n=8
The conference contents were presented in an engaging way.				7 (87,50%)	1 (12,50%)	n=8
The conference was interesting.			1 (12,50%)	6 (75,00%)	1 (12,50%)	n=8
The coordination was well prepared.			1 (12,50%)	6 (75,00%)	1 (12,50%)	n=8
The coordination was helpful.			1 (12,50%)	6 (75,00%)	1 (12,50%)	n=8
Overall, I am happy with the conference results.			1 (12,50%)	6 (75,00%)	1 (12,50%)	n=8





Project Number: 2018-1-DE02-KA204-005014 6th NGEnvironment – Layman Report Conference – Meeting Evaluation

I have a clear picture now of the projects' next steps.	1 (12,50%	6 (75,00%)	1 (12,50%)	n=8
I know what my tasks for the upcoming period are.	1 (12,50%	6 (75,00%)	1 (12,50%)	n=8

Question 2:

Do you have any concerns regarding the development process in NGEnvironment so far?
Yes, please be specific (n=0):
x No (n=8)
Do you have any concerns with the quality of the management or collaboration of the project so far?
Yes, please be specific (n=0):
x No (n=8)

Question 3:

What would you like to suggest for the future cooperation / communication in the NGEnvironment project?

(n=5)

- -Everything went well
- -Thank you all, for a great partnership and excellen work in challenging times of Corona. I really appreciated the project and love the results.
- -It would be preferable to agree with partners dates for events and meetings because it can happen that someone from partners institution is already busy in other commitments on the date set by the coordinator.
- -Nothing can be improved it has been a very positive project that has been expertly coordinated and delivered.
- -I dont have something to add.





Project Number: 2018-1-DE02-KA204-005014 6th NGEnvironment – Layman Report Conference – Meeting Evaluation

Question 4:

Please describe any Dissemination & Exploitation activities or measures you undertook so far related to the NGEnvironment project.

(n=5)

- -Facebook, website, social media, online journals
- -Webside, Poster, Social Media, articles and publications, direct contacts with chambers and NGOs, integration in lectures, newsletter, multiplier events, intergation of informtion in other projects (e.g. Digl-VET, AVTIV-UPB, AWARE, STEM-in Action, SAFE).
- -Disseminate main IOs on social media
- -We have disseminated the project online, through our training and events and among our NGO stakeholder networks.
- -We promoted the project throu facebook, twitter, seminars and our website.

Question 5:

What else would you like to pass on? Are there any other issues for discussion? (n=3)

- -Thanks, to all partners and to all NGOs who supported the project
- -It has been a joy to work with these partners thank you for your support and collaboration.
- -None